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QUESTION 1
Which muember i equivalent to lw.qu
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QUESTION AZ
Flgure O wan the result of & sequence of iransformations on figure P, both shown
below

Which sequence of transformations could take figura P to figure 7
@ raflection over the x-axis and translation 7 units right

reflection over the yaxis and translation 3 units down

B
C  trarslation 1 unit right and 1807 ratation aboul the origin
1]

trarslation 4 wnits right and 1807 rotation about the origin

CEPESTION &3
[Datarming the product.

BOLS x (2 = 10F)

8005 *a= 1O
) Q) * 10°*
3) 160} *10°

1.7 =107
1.601 <107
1.7 = 10%
1.601 =107
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8™ GRADE MATHEMATICS TEST PAEP
QUESTHIN #4

At a given time, Saturn was 31 =10° miles from the Sun and Farth was 932107 miles
from tha Sun, By what distancs is one planet doser to the Sun than thae other planer?

ql*10f 91.0wl0”
-qa3»107 =>-93* (0’

A 2=10
B 2=10f
€ BT =107

@ BAT =108

QUESTION #5

Thir Combined wolume of 2l the tinks at an aguariom is 1.25 x._w gallors The
suianium plans to nstall a new dolphin tank with 3 volume of 250,000 gallons. What
il b e Bial vedames of 8 of the tanks st the aguanm alter the ey dolpban tank

B 15 %05 + .25 %10~
B 3175 ei0? .M...._.lu —Gu+ _.N.,._m.. ##Om-
@ i 15, % 10%"
n@ﬂwﬁﬁ dilation with sl E !

factor 0.5 and then a reflection over the
yams. The resulting image & Rectangle 5 Whech statement about Rectangles & amd 5
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A They ars congreant and simila,
Q Theey are simalar but not congruent.
€ They are congreent bt not similar,
D They are neither congruent nor similar.



